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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.
Then mark the answer on your answer sheet.

1-  Some vegetarians are not just indifferent to meat; they have a/an —-—--—-- -- toward it.
1) immorality 2) tendency 3) antipathy 4) commitment

2- A recent study shows that the prevalence and sometimes misuse of cell phones and
computers has led to a/an --—--e-ev- in some people about the benefits of technology.
1) ambivalence 2) distinction 3) encouragement  4) compromise

3- My niece has a ~--—-=m- imagination. She can turn a tree and a stick into a castle and a
wand and spend hours in her fairy kingdom.
1) vacuous 2) vivid 3) cyclical 4) careless

4-  The singer's mellifluous voice kept the audience --------—-- for two hours.
1) disputed 2) disregarded 3) frustrated 4) enchanted

5-  His family, relatives, and friends still cling to the hope that Jeff will someday ---------- -
himself from the destructive hole he now finds himself in.
1) evade 2) prevent 3) deprive 4) extricate

6- Logan has been working long hours, but that is no excuse for him to be ---eeeeeeev to
customers.
1) ingenious 2) intimate 3) discourteous 4) redundant

----, he continued to assert that he was innocent and had

7-  Although he was found
been falsely indicted.
1) critical 2) guilty 3) problematic 4) gloomy

8-  The old sailor's skin had become wrinkled and -- --- from years of being out in the
sun and the wind.

1) desiccated 2) emerged 3) intensified 4) exposed

9-  The promoters conducted a survey to study the ----------— of the project before investing
their money in it.
1) impression 2) visibility 3) feasibility 4) preparation

10- That is too --—-—---- an explanation for this strange phenomenon—I am sure there's

something more complex at work.
1) simplistic 2) lengthy 3) profound 4) initial
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PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
each space. Then mark the correct choice on your answer sheet.

Some researchers investigated the effect of listening to music by Mozart (11) ~==eeemeem-
spatial reasoning, and the results were published in Nature. They gave research
participants one of three standard tests of abstract spatial reasoning (12) ~—=-eeeeeeee
each of three listening conditions: the Sonata for Two Pianos in D major, K. 448 by
Mozart, verbal relaxation instructions, and (13) ---—-. They found a temporary

enhancement of spatial-reasoning, (14) ----=c-meee spatial-reasoning subtasks of the
Stanford-Binet [Q test. Rauscher et al. show that (15) ===========- the music condition is
only temporary.

11- 1)in 2) for 3)of 4) on

12- 1) having experienced 2) afier they had experienced
3) to be experiencing 4) to experience

13- 1) silence 2) was silent 3) there was silent  4) of silence

14- 1) then measured 2) that was measured
3) as measured by 4) to be measuring

15- 1) the effect of the enhancement of
2) the enhancing effect of
3) enhances the effect of
4) is enhanced by

PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the best
choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE I:

The tides consistently supply nutrients for photosynthesis, plankton, and detritus to
intertidal communities. Where rocks are kept wet enough by spray. algae grow
abundantly. The base of the intertidal food web usually consists of plankton and
benthic algae. Benthic algae vary from microscopic diatoms to fleshy seaweeds.
Grazers, filter feeders. detritivores, and predators are all abundant in rocky intertidal
food webs. Although some slow-moving herbivorous animals, such as chitons and
limpets, may be limited by their inability to move over a large enough grazing area, for
most rocky intertidal inhabitants, food is abundant. The availability of space, however,
is another matter. The competition for space among community inhabitants is often the
dominant biological factor in the organization of intertidal communities. In areas
where wave action is heavy. barnacles dominate upper intertidal zones primarily
because only they have the ability to survive there. Less-resistant species such as
periwinkles are washed away by wave action. and most predators cannot withstand the
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17-

18-

19-

20-

high temperatures and drying conditions of the upper intertidal. In the upper portion of
the intertidal zone in the Pacific coast of North America, there is a distinct zonation of
two barnacles because only they can tolerate conditions there. Balanus glandula and
its competitor. Balanus cariosus. are heavily preyed on by several gastropods of the
genus Nucella. While Balanus glandula escapes from its predators by its position in
the intertidal, Balanus cariosus cannot do so. It escapes by growing to a size that is too
large to be consumed.

Which sentence is correct?

1) Some benthic algae are diatom.

2) Like diatoms, seaweeds are single celled.

3) Unlike microscopic diatoms, seaweeds are benthic.

4) Benthic algae and diatoms live in different places.

Which definition about chitons is FALSE?

1) They are slow-motion animals.

2) They are not limited by food.

3) They graze on benthic algae.

4) They are always dominant on the rocky shores.

Which factor is less limiting for animals in the intertidal of rocky shores?
1) Food 2) Space

3) Water 4) Temperature
From the passage, what is understood about periwinkles?

1) They cannot tolerate high temperatures.

2) They are not attached to the rocks.

3) They cannot withstand through high salinity.

4) They are abundant in the intertidal zone.

How do Balanus cariosus prevent from predation of gastropods?

1) They gain very large bodies. 2) They escape and go far away.
3) They fight against gastropods. 4) They keep their bodies at supralittoral.
PASSAGE 2:

Sharks sink if they stop swimming because their bodies are denser than seawater. They
compensate for this problem by maintaining large quantities of an oily material called
squalene in their livers. In some species the liver may account for 20% of a shark's
weight. Squalene has a density less than seawater's (density of squalene is 0.8 g/cm3:
the density of seawater is 1.020 to 1.029 g/cm3). and this helps to offset the shark’s
density. The large. appropriately directed pectoral fins and big head of many species
provide additional lift. Still, many sharks have to swim constantly to maintain
buoyancy. Similar to this, coelacanth fish use a fat-filled swim bladder along with a
reduced skeleton to maintain neutral buoyancy. Most ray-finned fishes, with the
exception of some pelagic species, bottom living, and deep-sea fishes, use a gas-filled
sac called a swim bladder to offset the density of their bodies and regulate buoyancy.
By adjusting the amount of gas in the swim bladder, a fish can remain indefinitely at a
given depth without any muscular movement and with minimal energy loss. As the
fish ascends, it must remove gas from the swim bladder or else it will expand. become
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less dense, and rise too rapidly. Two mechanisms have evolved to allow adjustments
in the gas volume of the swim bladder. Some fishes. such as herrings and eels. adjust
the gas volume of their swim bladders by swallowing air from the surface or "spitting
it out" as needed. Others use a specialized gas gland to fill the swim bladder from
gases dissolved in the blood. In these fishes, the swim bladder is deflated by diffusion
of gases directly into the bloodstream. Active pelagic fishes such as mackerels
(Scomber) lack swim bladders. These animals must keep swimming or they sink.
Scorpionfishes, lack a swim bladder because they do not need to maintain buoyancy in
the water column. Many fishes that live in the deep ocean also lack a swim bladder.

Which sentence is FALSE?

1) The sharks' liver contains fats. 2) Sharks have no swim bladders.

3) Seawater is heavier than squalene. 4) All sharks sink if they stop swimming.
According to the passage, which part is not responsible for sharks' buoyancy?

1) Head 2) Fins

3) Liver 4) Swim bladder

According to the passage, which sentence about scorpion fishes is true?

1) They have a big liver. 2) They swim very fast.

3) They live at the bottom. 4) They live in the upper layer of water.

According to passage, which sentence is true?

1) Herrings have fat filled swim bladders.

2) Coelacanth fish have developed skeleton.

3) Some deep-sea fishes have no swim bladders.

4) Fishes cannot live in the bottom with swim bladders.
How do mackerel fish keep their bodies buoyant?

1) By moving fast 2) By stopping swimming
3) By swallowing air 4) By lacking swim bladders
PASSAGE 3:

Ctenophores, or comb jellies (phylum Ctenophora), are nearly transparent marine animals.
They are named for the eight rows of comb plates (ctenes) the animal uses for locomotion.
The comb plates are made of very large cilia, and when the cilia beat. the animal is able to
move. Ctenophores are weak swimmers and are mostly found in surface waters. They are not
powerful enough swimmers to make much forward progress, but they can move up and down
in the water column by beating their cilia. At the apex of each animal there is a small,
transparent, bubble-like structure within which are four hairs with a granule of calcium
carbonate balanced on their tips. If the ctenophore turns in one direction or another, the
granule on that side will press harder on the hair. This causes the comb row on that side to
beat harder. thus righting the animal. Like cnidarians. ctenophores exhibit radial symmetry,
but they lack the stinging cells that are the hallmark of cnidarians. The delicate bodies of
ctenophores are iridescent during the day. At night, almost all ctenophores give off flashes of
luminescence, possibly to attract mates or prey or frighten potential predators. Along with
other bioluminescent organisms, they are responsible for the luminescence of many seas.

Which sentence is correct about the body color of comb jellies?
1) Their bodies are dark. 2) They are exactly white.
3) They are completely colorful. 4) They usually have a colorless body.
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27- How is the swimming ability of ctenophores?
1) They swim very fast.
2) They cannot swim at all.
3) They can swim backward at the surface.
4) They are able to keep themselves in the upper layer of water.
28- What is the main function of calcium carbonate in comb jellies?
1) It serves as skeletal protection.
2) It helps to control their balance.
3) It is the origin of each cilia.
4) It has application in the shell structure.
29-  According to the passage, what are comb jellies almost like?

1) Benthos 2) Plankton
3) Nekton 4) Neuston
30- Based on the passage, how do comb jellies keep their predators away?
1) They produce light. 2) They hide themselves.
3) They have transparent bodies 4) They escape by swimming fast.
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